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Two related kinds of tartans :
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exponential functions
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Exponential functions describe doubling and
halving phenomena in the real world



e. g . A population of caribou grows at

10% per year and starts with 1000

animals at the E-0 years .

Claim : P (E) = tooo ( 1. 1)
t

Did this work?
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what's the population after Item 6 months?

Plt)= 10004.1¥

Pll . s) = 1000 ( I. 1)
"5=1153.689
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Where is the doubling?

Consider : f- (x) = 2X

f ( o) = 20 = I double

f- ( t ) = 21 = 2

f- Cz) = 22=4
double

Consider FG) = 2×13
f. ( o) = 2% =/
f- (3) = 2
I doubledx→E I
Idoubled



x Ms f- (6) =2613--22=4×93flat - 8 ÷d
f-G)= 2×13=(2/3)! ( 1.264
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Doubling includes halving .
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